

The Big Picture
Chapter 13: The cost of production
Now, we will look at firm's revenue
But revenue depends on market structure
 Competitive market (this chapter)
2. Monopoly (chapter 15)
3. Monopolistic Competition (chapter 16)
4. Oligopoly (chapter 17)
Are there other types of markets? Yes, see more
advance courses in IO and firm competition
2021/11/25 Perfect Competition Joseph Tao-yi Wang





The Revenue of a (Competitive Firm				
▶ Total Revenue,	TR = P imes Q				
Average Revenue	e, $AR = TR / Q$				
How much revenue does the firm receive for one unit produced					
Marginal Revenue, $MR = \Delta TR / \Delta Q$					
Change in TR from an additional unit sold					
 How much additional revenue does the firm receive if production increases 1 unit 					
For competitive firms: $AR = P = MR$					
2021/11/25	Perfect Competition	Joseph Tao-yi Wang			

	Q	Ρ	TR	AR	MR	
Evenente, Ameri'a Amela Oreba	0	\$20				
Example: Amari's Apple Orcha	1	20				
Amari's apple orchard can	2	20				
produce up to 10 bushels	3	20				
of apples per year, and the current market price	4	20				
is \$20 per bushel.		20				
 Calculate Amari's apple 	6	20				
orchard's total revenue,	7	20				
average revenue, and	8	20				
marginal revenue	9	20				
2021/11/25 Perfect Compet	10	20				



	Q	P	TR	AR	MR	
Evenenie, Ameri's Annie Oreba	0	\$20	\$0	\$20	\$20	
Example: Amari's Apple Orcha	1	20	20	20	20	
Amari's apple orchard can	2	20	40	20	20	•
produce up to 10 bushels	3	20	60	20	20	
of apples per year, and	4	20	80	20	20	
the current market price is \$20 per bushel.	5	20	100	20		
· ·	6	20	120	20	20	
 Calculate Amari's apple orchard's total revenue, 	7	20	140	20	20	
average revenue, and	8	20	160	20	20	
marginal revenue	9	20	180	20	20	
2021/11/25 Perfect Compet	10	20	200	20	20	

Profit Maximizatio	n				
► Goal of a firm: r	maximize profit = T	R – TC			
ightarrow TR = P imes Q and	TC = FC + VC				
▶ What Q maximi	zes a firm's profit?				
Think at the margin: if <i>Q</i> increases by one unit, revenue rises by <i>MR</i> and cost rises by <i>MC</i>					
Comparing MC with MR					
If $MR > MC$: increase Q to raise profit					
If MR < MC: decrease Q to raise profit					
Maximize profit for Q where MR = MC					
2021/11/25	Perfect Competition	Joseph Tao-yi Wang			

Example: Amari's Apple	Orcha	ard	Pr	ofit			
Where is profit	Q	TR	тс	Profit	MR	мс	
maximized?	0	\$0	\$6				
	1	20	14				
▶ Is MR > MC or	2	40	24				
MR <mc at="" profit-<="" td=""><td>3</td><td>60</td><td>36</td><td></td><td></td><td></td><td></td></mc>	3	60	36				
maximizing Q?	4	80	50				
	5	100	66				
	6	120	85				
	7	140	105				
	8	160	126				
	9	180	150				
2021/11/25 Per	fect comp	200	176				





Example: Amari's Apple Or	cha	ard	Pr	ofit			
If $MR > MC$,	Q	TR	тс	Profit	MR	мс	
increasing Q raises profit.	0	\$0	\$6	-6	\$20	- 8	12 –
meredsing & ruises prome.	1	20	14	6			
	2	40	24	16		- 10	10 -
May mustit at O whom	3	60	36	24		- 12	8 –
Max profit at Q where	4	80	50	30	20 -	- 14	6 –
MR = MC	<u> </u>				20 -	- 16	4 –
$m = m \epsilon$	5	100	66	34	20	19	2 –
	6	120	85	35	20 -	- 20	0
	7	140	105	35	20 -	- 22	-2 -
If MR < MC,	8	160	126	34			
reducing Q raises profit.	9	180	150	30	20 -	24	
	10	200	176	26	20 -	- 26	6
2021/11/25 Perfect			110	20			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,





Shutdown or Exit?		
▶ Shutdown:		
A short-run decise market condition	sion not to produce anyth s.	ning because of
ightarrow Q = 0 in the sho	ort run	
▶ Exit:		
► A long-run decisi	on to leave the market.	
A key difference		
► If shut down in S	SR, must still pay <i>FC</i> .	
If exit in LR, zer	o costs.	
2021/11/25	Perfect Competition	Joseph Tao-yi Wang





























Short Run Market	Supply Curve				
As long as $P \ge A$	4 <i>VC</i>				
 Each firm will produce its profit-maximizing quantity, where MR = MC. 					
▶ Recall from Cha	pter 4:				
At each price, the market quantity supplied is the sum of quantities supplied by all firms					
Market Supply:					
The sum of all individual supplies					
2021/11/25	Perfect Competition	Joseph Tao-yi Wang			











































R Supply Curve n	nay Slope Upward	
Costs rise as firm	ns enter the market	
	, the supply of a key inpu itable for farming is fixed	
The entry of new its price to rise.	firms increases demand fo	or this input, causing
This increases all	firms' costs.	
	e in P is required to increa so the supply curve is up	
021/11/25	Perfect Competition	Joseph Tao-yi Wang



Think-Pair-Share					
Walking into a Walmart store at 2am with a friend to					
buy some cat food, your friend says, "I can't believe that					
these stores stay open all night. There are 10 shoppers in this					
store, and only one checkout lane is open. It doesn't make any					
sense for this store to be open all night."					
A. Why do you think this Walmart is open all night?					
B. Are the costs of rent, equipment, fixtures, salaries of					
management, and so on relevant when Walmart makes the					
decision whether to stay open all night?					
c. If Walmart had 10 customers during its daytime hours, do					
you think it would continue to operate?					
2021/11/25 Perfect Competition Joseph Tao-yi Wang					















	slido
	Audience Q&A Session
69	igodot Start presenting to display the audience questions on this slide.

Principles of Economics		
Ch.14:		
	The End	
2021/11/25	Perfect Competition	Joseph Tao-yi Wang